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1. ROFEXEME 7230, (11) 4z = —8x + 72

(1) 4o =—x+10

K or=2 (12) —bx =z —48
(2) 92 = —Tx — 128
EH.or=-8 (13) 8z = —8x — 96
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K. o rx=4
(17) —8z =9z + 68
(7) 9z =Tz —2
E.ox=-1
(18) =9z =z — 60
(8) —6z = 6x — 12
Kox=1
(19) =7z = —3x+ 32
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Ko ox=4
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1. ROFEXEME 7230, (11) 3z = -9z + 96

(1) —bz =x—48

Bor=8 (12) 2 =7z +24
(2) x=—6x+28
Z.or=4 (13) 32 = —2x + 20
8) —6x=—-8x—2
Zor=-—1

(14) =7z =—-22-10
(4) 2z =8z —54

s =
aer=9 (15) —92 = x — 60
() —2z=-3z-1
AKox=-1
(16) —9x =8z + 17
(6) 4z = —x + 10
K. or=2
(17) —4x =8z — 48
(7) —4ax = -5z +6
. x=6
(18) 7x = —8z — 30
(8) —8x = —4x +20
XK. o r=-5
(19) 4z =62+ 12
(9) 4oz = -8z + 72
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1. ROFEXEME 7230, (11) -9z =2 —-60

(1) 8z =—-8zx—96

B p=—6 (12) -2z = —3z—1
(2) —8x =9x+68

o ox=—4 (13) —2z = 5z — 63
(3) 6x =8z +18

ZK.oxr=-9

(14) 4x =6z + 12
4) —Tx=—-3x+32

s = —
Foz=—8 (15) = =7z +24
B) 9xr =7 -2
E.ox=-1
(16) —6x = —8x —2
6) 3z=—-22+20
K. rx=4
(17) -9z =8z + 17
(7) —6x=—x—5
Ko oxrx=1
(18) 4oz = —Tx — 44
(8) —6z = 6x — 12
Kox=1
(19) —bx =z —48
(9) 7Tz =—-8x—30
K. or=-2

(10) 9z = —7x — 128 (20) —2z =4z +6
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1. ROFEXEME 7230, (11) 2z +22=—-50—Tx

(1) 22 -15=-9+ 5z

Bop=—2 (12) 62 + 22 = 40 + 4z
(2) 32429 =34+4z

% x=-5 (13) —3x+12=22—-3
(3) 9x+14=34—=x

K. ox=2

(14) —6x +29 =25 —4x
(4) —6x + 13 = 6z + 121

K = —
Foe=-9 (15) —7x —16 = —20 — 3z
(5) 2x+4=—26+ 8
& ox=5
(16) Tz +13= -5+ 73
(6) —bx+18 =92 —94
K.oxr=38
(17) =5z +17=2x+24
(7) 62+ 17 =53+ 2z
K. or=9
(18) 9 —5=—-5+=x
(8) —8r—23=T+2z
B, x=-3
(19) 92 — 24 = 104 — Tz
(9) —6x + 14 = —4x + 32
&.oxr=-9
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(1) 3z+1=-22-19
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B or=2 (13) —22—12= -3 — 3z
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& or=-3
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Z.ox=-9
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K or=T
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(2) —(z—4)=-2

(3) —2(x+8) =—8
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®) —(z—-3)=9
B.ox=-6
©) 3(x—9)=-33
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(10) 3(x —5) = -3
K. x=4
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(11) 2(z+3) =8

(12) (z—1)=-3
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1. ROFGRREME oS0, (11) —3(x+1)=-3

1) 7(z+7)=14

%z =—5 (12) 3(z+8) =36
©2) (z-6)=-13
Eow=-T (13) —4(z +5) = —52
(3) T(x+1)=28
Z. =3

(14) 7(x —3) = -84
4) —(x+9)=-1

For==8 (45 9w —4)= -0
(5) 8(x +8) =56
o or=-1
(16) —3(z —5) =15
(6) —8(z+6)=28
Korx=-17
17) —(z—-3)=9
(7) 3(z+8) =42
Z.ox=6
(18) 2(x+1) =10
(8) 4(x —3) = —16
Eox=-1
19) 9(z — 1) = —54
(9) —9(z—1)=45 (19) 9(z —1)
K ox=-4
(10) —2(z—6) =4 (20) 5(x —8) = -85
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(1) 2(z+1)=-10

(2) 3(z+9) =236

(3) 2(x +5) = 12

(4) —9(z—1)=45

(5) 7(x—3)=—84

6) —(z—4)=-2

(7) 6(z+5) =72

(®) —T(z+1)=35

9 7(z+7)=14

(10) —(z+7)=-4

K. r=-6
K ox=3
K. ox=1

. ox=-4

E.ox=-9
E., r=06
K.ox=T
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(19) —(z+2) =4

(20) (z+2)=9

K. r=-5
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(1) 5(z—1)=8(xz—1)

@) T(x+2) = —T(x+4)

(3) 6(z—3)=—6(z+5)

4) -3(x—3)=-9x—-1)

(5) —8(z+5)=—4(z +2)

(6) —7(x+9)=—6(x —8)

(7) —6(z+8) = 9(z — 2)

®) 6(z—2)="7(z+4)

(9) 6(z+4) =5(z—5)

(10) —4(z+8)=—-2(xz—7)

K.or=1
E.ox=-3
K. ox=-1
K. o x=0
Z.ox=-8
Z.ox=-111
Ko ox=-2
K. z=-40
K. r=-49
K. x=-23
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(11) —5(z +2) = —4(z + 1)

(12) 2(z —7) = —6(z +5)

(13) 4(z —8) = 8(z — 9)

(14) —7(x —2) =5(z —2)

(15) 4(z—5)=T(x+7)

(16) 4(z+3) =2(z +4)

(17) 3(z+8) =9(z +4)
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1. KO FFEREME 72 S0, (11) —3(z —3) = —9(z — 1)
1) 7(x—6) = 8(z +5)
Z.ox=0
& 1= -82 (12) 9(z —6) = 8(z — 6)
(2) —4(z+1)=—-(z+1)
. . x=6
How=—1 (13) 4(z —8) = 8(z —9)
3) 4(x—9)=2(x—7)
. =10
& o= (14) 7(z —8) = 8(z + 3)
(4) 6(x —5)=2(z+5)
Z. x=-80
aoo=10 (15) 3(z —9) = —4(z + 5)
(5) —3(x—7)=—8(x—7)
. ox=1
E.ox="T
(16) —6(x —1) = —4(z + 2)
(6) —2(x+6) = —4(z +8)
Box=7
.o x=-10
(17) —9(z — 6) = —8(z — 6)
() T(z+2) = —T(x+4)
K. x=6
E.ox=-3
(18) —(x+7) = —-2(z+2)
(8) —8(x—9) = —4(x —4)
K. .ox=3
K. ox=14
19) —2 =—(z—
9) —4(z —5) = —5(z +3) 19) =2z +8) = ~(z=-9)
% ox=-35 B.ox=-25
(10) —6(x +6) = —9(z + 9) (20) ~7(z+9) = —6(z —8)
% x=-15 . ox=-111
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(1) —2(z+6) = —4(x +8)

2 —6(x—1)=—T(z +3)

(3) —3(z—T7)=—8(x—7)

(4) 6(x —5)=2(z+5)

(5) =7(x —2)=5(x—2)

6) —6(x —1) = —4(z +2)

(7) —5(x—5) = —(z—1)

®) —7(x—9)=2(x+9)

(9) —8(x+6)=—4(z—1)

(10) —8(z — 9) = —d(z — 4)

K4

(11) 6(z —3) = —6(z +5)

(12) 7(x +2)=-7(z+4)

(13) —5(z +8) = —6(z — 1)

(14) —5(x +2) = —4(z +1)

(15) —2(z+1) = —4(x +3)

(16) 8(z+3) =5(z +3)

(A7) —3(x+7) = —(z+7)

(18) 7(z —3) = —3(x — 3)

(19) 9(x +6) = 3(x — 4)

(20) 4(z—2) = —8(z+1)
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1. ROFRREMRE 72 S0, (1) ~7(x—3)—d=—(z—4) -5

(1) =5z —3)—3=—T(x+6)—6

%, x=-30 (12) 6(z —3)—3=T7(z—4)+1
(2) -3(z—-3)+1=-2(x+5)—1
E.or=21 (13) —4(z—4)+9=—2(x+1)—1
(3) —8(x+5)—T=—9(x+4)—6
&, x=5

(14) —9(x+4)— 6= —3(x+3)—9
4) 6(z+4)—1=7(x—9)+3

A= (15) 9(x —6) —2=8(x—5)—6
(5) A(x+T7)+7=-3(x+3)+9
&, x=-5
(16) —2(x—6)+3=3(x—4)+2
(6) —3(x+9)+6=—6(x+3)+6
%.ox=3
(17) —2(z+6)+1="7(x+8)+5
(7) 3(x—9)—8=2(xz+4)—1
K. r=42
(18) 9(x —8)+4=5(x+9)+3
(8) —T(x—3)+1=-3(x—3)+9
Eor=1
19) —5(z —6) —2=—4(x+6) +6
©) 4z —T)—1=3@x—2)—7 (19) —5(z —6) (z+6) +
%, x=16
(10) —4(x —9)+8=—5(x+3)+8 (20) —5(z+5) —1=3(x+3)+5
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1. ROFRREMRE 72 S0, (1) —8(z+5)—7=—9(z+4) — 6

(1) 9(x—8)+4=5(x+9)+3

Z.ox=29 (12) —3(x+8)+1=—-4(x—5)—6
(2) —3(x—2)+6=—-9(x+2)—6
How=—6 (13) —5(x+3) —8= —6(z+5) — 8

3) 9(zx—6)—2=8(x—5)—6

Foo=101 (14 5(z-6)-2=—4(z+6)+6
@) —2(x—-1)-2=—4(x+3)+6
H.ox=-3 (15) —5(z+1)—T=—(z—1)—9
B) —(2+7)-3=-9(x-3)-5
%.orx=4
16) ~(z+2)~1=-2(z+8) -3
(6) 6(z+4) —4=5(z+6)+1
. o rx=11
(A7) —9(z —9) +6 =5(x +2) +7
(1) 6(z+4)—1=7x—-9)+3
. x =283
(18) 3(z+4)+6=2(x—1)+4
(8) 7(w—8)—4=-3(x+4) -8
B.ox=4
10) —E(p __
9) —4(z—4)+9=-2x+1)—1 R
. x=14

(10) 6(z—3)—3=T(x—4)+1 (20) —5(z—3) =3 =—T(z+6) — 6
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K4

(11) —7(z+7)—8=—-8(x—5)—4
(1) —5(z+3)—8=—6(x+5)—8
. =093
%, x=-15 (12) —2(z—1)—2=—-4(z+3)+6
(2) —6(x—3)+3=-4(z+4) -5
E.ox=-3
Eow=21 (13) —4(z —4)+ 9= —2(x+1)—1
(3) —T(x—3)—4=—(z—4)—5
Z.orx=14
& z=3 (14) =5z +2)—2=7(z+9) -3
(4) 4(x+8)+3=2(x+4) -7
&, x=—6
Bow= ol (15) —3(z+8)+1=—4(x—5)—6
(5) =5z —1)—4=-T(x+4) -9
&, x =37
. r=-19
(16) 3(x —1)+5=—4(x —9) +8
6) —T(x+2)+8=—(x+4)—38
.o x=6
.o ox=1
(17) —bz+1)—T=—(z—1)—9
(7 Az +T7)+7=-3(x+3)+9
E.or=-1
B, x=-5
(18) 3(x—9)—8=2(x+4)—1
®) —(x+9)—6=—6(x—2)+8
K. x =42
B.ox=7
19) —8(z+8)—5=—T(x—5)—2
9 —3(x—-3)+1=-2@x+5) -1 (19) —8(x +8) (x —5)
& r =21 %. x=-102
(10) 6(z —3)—3="T(x—4)+1 (200 —9(x —9)+6=5(x+2)+7
K. orx=6 /i



